[ Efficiency vs vertpos |
~0.02

.018F---

©
o
o
D
TT]

0.002F
o O
S b Al

107 1

[EEN
ok
s

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
Efficiend —— pom_v0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

01| | BN UL SO SRR SO
Q F : :

.008F - I SRR SO IO
o) E : :

D.007F e ESUURRUE U RN SRS
[ E : :

£.006F - SRR SUUE SO S O
0.005F - oo e
0.004F -+ B e,
0.003F+++ T e S s
0.002F -+ U S

0.001F -+t {l-it-eeeee L]

3 +*++|++++

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0%

2086 4 2 0 2 4 6 8§ 10
Sim. PV z (cm)




	Contents
	Page 1


